Year 6 Maths challenge WB 30.3.20

Three passengers in row 1on the plane
could not dedde who was going to sit by
the window, in the middle or by the aisle.

How many different ways could the
seafing plan be arranged?

Mr and Mrs Mossley want to fravel fo Dubai.
They could fly from Manchester or from Birmingham.
How much cheaper would it be for
them to fly from Birmingham?

What if...

...the cost of the flights decreased by 4% for the adults

butincreased by 4% for the children?

Investigate which would be the cheapest opfion a
family of 5, 2 adults and 3 children compared with the
original price of the flight for each of the airports.

Trips o Dubai
(see below)

Aying fime: 6 hrs 25 mins
Mr and Mrs Mossley want to
travel to Dubai.

How much would it cost
them to fly on 20"
December from

| Manchester | 20 Dec| £529 | £432

London
Heathrow
| London Gat | 23 Dec| £364 | £282
Birmingham | 20 Dec | £479 | £387

Mr and Mrs Mossley want to
travel to Dubai.

How much would it cost them to fly on
20™ December from Manchester?
How much would it cost them to fly to
Dubai from Birmingham?

How much cheaper would it be for
them to fly from Birmingham?

It takes Mr and
Mrs Mossley 2 hrs 15 mins to fravel
to Birmingham. They need to arrive 2
1

2 hrs before the 14:22 flight and allow
25 mins to park the car.
Mr Mossley says that if they leave the
house at 8:30 they will have plenty of
fime and at least one hour spare fime.
Is he correct?
Explain how you know.




